i) LYl zeliall 2Bge (o calall s AMiamat T Ss

ciloll &= (ol Jaill & oS & pladl pie (ol ol & Ll LY zaliall & zaliall 2540

13:11:16 2024-03-21 :zzalial) gBse e Calall 42 A5

ol ) sl aall) i 423 aall dno N dy i)

alioll ISl 389 ailys daxl e > 1

Sledl iV alif > 2

pladl Luadl zay g a3l ISl Z3gas 3

il ¥ alaatlg &l o) aBlallg 3 ) o) ylxie) ali 4
e8I LY s B e 5



https://almanahj.com/ae/id=25083
https://almanahj.com/ae/12chemistry2
https://almanahj.com/ae/12chemistry
https://almanahj.com/ae/12
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade12uae
https://www.facebook.com/grade12uae
http://bit.ly/3cHhI5R
https://t.me/almanahj_bot
https://bit.ly/2PxutsU
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=25082
https://almanahj.com/ae/id=24568
https://almanahj.com/ae/id=24296
https://almanahj.com/ae/id=17852
https://almanahj.com/ae/id=11066
http://www.tcpdf.org

Q.1: Electric force

What is the electric force between the two charges in the figure?

SISl A Cptiadll C Adaliall 4l 41 5 68l) laka La

il sl wlEdel o asl Loy ¢l
You may use any of the given equations where needed:

Charge of electron
O A Adady
-1.6 x107°C

Charge of proton
Osig ol Adad
+1.6 X107 C

K =9.0 x 10° N.m?/C?

P =IAV

E=Pt

1.7x 10 N

7.5%x 10 3'N

5.0x 10 1* N

6.9x 10 °N
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Q.2: Electric power

Which of the following is not a valid unit for the measurement of the electric power?
TAl 54l & 0801 (b Calda g (g ol i Laa sl

il dasliL)l wlddell (o Al los il
You may use any of the given equations where needed:
Charge of electron i
G Y Adads C= &
-1.6 x107°C
Charge of proton AV = W e q/ Je
O 9l Ao q/
+1.6 X107 C I q
K =9.0x 10° N.m?/C? t
F=k DL P = IAV
r
F q
E= 7 =K ) E=Pt
q r
AV
AV=Ed R=—
Watt atal

Joul/second 4s5/J sa
Joul.second Js>.4s8
Ampere.volt &gyl
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Q.3: Conductors and insulotors

The free positive charge distribution over the surface of two isolated spheres is shown in
the diagram. Which of the following is correct for the two spheres?
o S aaia piny b Laa s Cil g e 0 S ada A e JS8 dua gall Al a6 Al sl el

e

+ +IN +
+ +++
- + 4
+ +
+
1 2
1 2
Conductor Insulator
ilaga idle
1 2
Insulator Insulator
e ijle
1 2
1 2
Conductor Conductor
ilaga ilaga
1 2
Insulator Conductor
dile ila ga
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Q.4: Charges
How many electrons have been removed from a positively charged electroscope if it has a
net charge of (1.6x 10 ™ C)?
$(L.6% 10 71 () Adiaid Aiasa oS5 Ladie Adandid] a0 A 548 CHLES (e Ll 3] 3 Al il g <Y 238 S

il sl )l el o A b Loy il
You may use any of the given equations where needed:
Charge of electron q
S9N Aday = =
-1.6 x1071° ¢
Charge of proton AV = W q/ Jo
G859l Adads q/
+1.6 x107 ¢ ; q
K =9.0 x 10° N.m?/C? t
Fogk P = IAV
r
F q
E = 7 =K 2 E=Pt
q T
AV
AV=Ed R=—
1.0x 10 ¢
2.0x 103
1.6x 10
2.6x 1019
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Q.5: Potential difference

What is the potential difference between two parallel plates that are (0.12 m)
apart with an electric field of (2.5} 10? N/C) between the two plates?

.

s gles Ablesa Lagin Jualli (i 3) gia Ginabia (o 4l (508 La
125X 10 2 N/C) & shuss by AL < Jaall s (0.12 m)

bl sl )l wlddlell o asbh Loy il
You may use any of the given equations where needed:
Charge of electron q
Cro Ay Aday £ — =
-1.6 x1071°C
Charge of proton AV = W ol o
Osig ol Adads q/
+1.6 x1071°C ; q
K =9.0 x 10° N.m?/C? t
F=k 12 P =IAV
i
F q
E= ? = = E == P t
AV
AV=Ed R=—
30V
12V
21V
2.5x10%V
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Q.6: Electric field lines

Considering the intensity of the electric field lines shown in the figure, if the negative
charge is equal to (-12 pC). What is the charge of the positive charge?
(=12 pC) s gbed Al Adalal) cullS 1] JSid) B Ganall AL ) Jlaall Ja ghad 430ST |l
Slaa gall ddaddl a8 La

48 nC
24 nC
12 pC
6.0 nC
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Q.7: Current

Which of the following equations is a correct formula for electric charge ¢, knowing that 7 and ¢
represent current and time, respectively?
Sl Jiad 7 g bl Bad Jiad [ cils 131 ¢ g il 4 Al dssaa 83 Jll (e s

bl sl )l wlddlell o asbh Loy il
You may use any of the given equations where needed:
Charge of electron q
Oo RS sy C= =
-1.6 x1071°C
Charge of proton AV = W ql Lo
089l Adads q
+1.6 X107 C ; q
K = 9.0 x 10° N.m?/C? t
F=k 112 P=IAV
i
F q
E = 7 =K ) E=Pit
q r
AV
AV=Ed R=—
q=It
q=1/t
q=t/l
qg=It
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Q.8: Capacitance

A capacitor has a charge of (48 pC) on one of its plates, when the
potential difference between the two plates of the capacitor is equal
to (12 V). What is the capacitance of this capacitor?

Ox 2l G2 058 Laie (48 pC) W J)iha Adand dfiaidia saa o Jaay il

¢ aiCal) 1Ay dxs La

(12 V) (5 ke ISl Sasiia

bl sl )l wlddlell o asbh Loy il
You may use any of the given equations where needed:

Charge of electron
G AN Aoy
-1.6 x1071°C

Charge of proton
089l Adads
+1.6 x1071°C

K =9.0 x 10° N.m?/C?

F_K'h;lz
r
F
q r
AV =Ed

4.0 pF

0.25 pF

1200 uF

36 nF
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Q.9: Charging

The copper rod in the figure is negatively charged. The rod contains .........

5 Qualll g giag ummmfuh,ubauuaﬂds‘d\&

excess neutrons
dLaaild il g 15 g

free protons
da cligig

excess electrons
daild el g i)

excess protons
duaaild il ¢ g 4
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Q.10: Charging

When you charge an object by touching it by another charged object, the process is called
charging by ............ oo
2 Caddl dales (O gaddia Al auad diudla Gash (8 aua Gady cad 1)

ettt b (5 (addl e

conduction
S g0
induction
Gaal
grounding
o
electric field
s Jlaad)
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Q.11: Definition

Which of the physical quantities below is defined as “The amount of force acting on a

positive test charge divided by the amount of the test charge”?

La geua A gl HLdY) Adads Ao B igall 5 6811 jlata ' gl o e AWl) Al bl clsasl] e

€11 LAY

ddadi Hla8a o

sl sl )l el o ask Loy (il

You may use any of the given equations where needed:

Charge of electron q
-1.6 x107 ¢
Charge of proton AV = —o q/ o
O g9l Adads q/
+1.6 X107 C ; q
K =9.0 x 10° N.m?/c? t
F=k L2 P=IAV
T
F q
= T = E=Pt
AV
AV=Ed R= i

Electric field intensity
Sl Jnal Bk

Electrical capacitance
Ay gl Al

Electric potential energy
Ay gl puaa gl il

Electric potential difference
s g 3 2
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Q.12: Charge

When a body is charged by another body, the charge gained by the first
bodyis .................. the charge lost by the other.

i Cye dandi€al) Ada ) 8 ¢ A

pu il g3 s (sl Laic
s Jo¥l auall

not equal
S gl ¥

more than

Cra S

less than‘
e B

equal
g gbuss
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Q.13: Charges

In the figure, two isolated bodies (A and B) are suspended freely. Which of the following

can be correct about the charge type on the two bodies?

¢ Cpamad] Aadi Gldy bassia G680 8 b Laa 51 eoa J00 (ilaa Cplgjas (B 9 A) Osames JSAII G

A B
A B
Positive Negative
42 ga e
A B
Negative Positive
Al 4 ga
A B
Negative Negative
dall Aol
A B
Neutral Neutral
dalaia dalaia
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Q.14: Work done

Consider two parallel plates with (12 V) potential difference between them. How much

work is done on a proton to move it from the negative plate to a positive plate?
dasbiall e dliil (gign o Jodall Jadll jiBa La (12 V) s gbow Lagin 3¢l (58 (b)) gia (linsiua
fis gall il ) dulld

bl sl )l wlddlell o asbh Loy il
You may use any of the given equations where needed:
Charge of electron
Og A8y Ada C= %
-1.6 x107 ¢
Charge of proton AV = W ol
O$ig ) Ada q
+1.6 X107 C ; q
K = 9.0 x 10° N.m?/C? t
F=k 12 P =IAV
F q
AV
AV=Ed R=—
1.9x 10 8 J
1.6x 10 P J
12 )
120 J
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Q.15: Resistor

A light bulb has a resistor of (100 Q) is connected to a (220 V) power supply. What is the
current the light bulb draws?

Akl zluaall dsay (A1 Ll 30 La (220 V) LS suaar Jsaaga (100 Q) 4da glia b ¢S zluaa

bl sl )l wlddlell o asbh Loy il
You may use any of the given equations where needed:
Charge of electron
Og A8y Ada C= %
-1.6 x107 ¢
Charge of proton AV = —o q/ o
O$ig ) Ada q
+1.6 X107 C ; q
K = 9.0 x 10° N.m?/C? t
F=k 12 P =IAV
F q
AV
AV=Ed R=—
22A
05A
100 A
220A
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